Stenstorps BK
Simultan 2 2021-11-25

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poang % Namn MID Klubb
1 10 118 61.46 Kijell-Ake Lind - Staffan Dverstorp 4376 58556 Stenstorps BK
2 4 113 58.85 Kenth Sandéhn - Ulrik Christensen 7659 6582  Falkopings BS
3 6 107 55.73  Sven-Goran Lennartsson - Goran Andersson 12534 11026 Herrljunga BK
4 8 106 55.21 Tomas Gustafsson - Ake Gustafsson 34462 1790  Stenstorps BK
5 3 95 49.48 Freddy Sandahl - Christer Assarsson 8324 7878  Tidaholms BK
6 1 90 46.88  Arnold Ivansson - Ingrid Rylander 7721 3376  Stenstorps BK
7 9 89 46.35 Kjell Gustafsson - Arne Johansson 7119 7722  Stenstorps BK
8 2 86 44.79  Billy Gustafsson - Rune Johansson 57233 93812 Tidaholms BK
8 5 86 44.79  Krister Andersson - Anders Rehn 59969 57236 Tidaholms BK
10 7 70 36.46  Jan-Ove Piehl - Anders Birgander 90109 11309 Tidaholms BK - Stenstorps BK
1 4 Kn732 Bésta kontrakt 2 « KD86 Bésta kontrakt 3 + 1064 Bésta kontrakt
Nord v KKn74 4v N =420 Ost v EKD53 6NT S = 1440 Syd v 1085 3v SD-1-100
Ingen + Kn4 NS + K9 ov + K75
#EK5 & ¢ v & NT #K10 & ¢ v & NT #EK82 & ¢ v & NT
4D1098 4 K54 N9 6 107 9 47432 4 E1095 N 108 108 12 « EK3 4 Kn972 N57 8565
v 832 vD10 S 8 6 107 9 v98642 v10 S 119 118 12 v93 v EKn4 S57 855
¢ ED1098 ¢ 632 047 254 ¢- ¢DKn10875 O 0 4 2 3 1 ¢EKn8 ¢D32 086588
&3 #Kn9864 V47254 &#Kn742 %65 V04231 #D9763 #Kn105 V865838
~E6 4 Kn 4 D85
v E965 vKn7 vKD762
+ K75 + E6432 + 10964
#D1072 #ED983 *4
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
10 5 4v N+1 *4 450 80 00| 7 8 B6NN= +Q 1440 80 00| 3 6 240-1 vK 100 8.0 0.0
3 6 4vS= 3 420 6.0 20 [10 5 3NS+2 v4 660 6.0 20 [ 7 8 INV= +5 90 4.0 4.0
2 4 4vyN-1 *6 50 3.0 50| 3 6 6NN-1 +Q -100 30 50| 9 1 INV= *T 90 4.0 4.0
9 1 4vN-1 a4 50 3.0 50| 9 1 6NN-1 +Q -100 3.0 50 |10 5 2&V= v8 -90 4.0 4.0
7 8 4vy N-2 8 -100 00 80| 2 4 7vyN-4 +Q 400 00 80 | 2 4 INV+2 SA -150 0.0 8.0
4 a- Bésta kontrakt 5 ~ E87 Bésta kontrakt 6 443 Bésta kontrakt
Vast v EKDKn52 5¢v N D -1-200 Nord v 853 44 O =-420 Ost v Kn98 64 O =-1430
Alla + 86 NS + KKn4 ov + KKn9852
#D10842 & ¢ v & NT #5432 & ¢ v & NT *75 & ¢ v & NT
408742 #ED6 N5 2 104 4 & KKn94 410653 N3 7536 4 KD9875 4102 N36111
v43 v9 S 5 2 104 4 v6 v EDKn42 S37536 v 542 v EKD106 S36111
¢+ EK952 ¢ D107 O 8 103 9 7 ¢ 1093 ¢+ E6 O 106 8 107 ¢4 ¢+ E106 09 7 121210
«9 #EKKn763 V 8 113 9 7 #DKn1087 #E9 V 106 8 107 *K86 «ED9 vV 9 7 121210
& KKn1053 4 D2 & EKn6
v 10876 v K1097 v73
+ Kn43 + D8752 +D73
«5 *K6 #Kn10432
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
4 7 4v N= SA 620 70 10| 4 7 44V-2 ¢4 100 80 00| 4 7 3NO= +3 -600 8.0 0.0
8 1 4vN= SA 620 70 1.0 [10 6 24 V+2 *5 -170 60 20| 9 2 3NO+1 %] -630 6.0 2.0
9 2 3vN+1 SA 170 40 40| 8 1 24V+3 »5 200 40 40| 3 5 4eaV+2 v8 -680 3.0 5.0
3 5 3vN= *A 140 10 70| 3 5 44 V= *2 420 20 6.0 | 8 1 44 V+2 *7 -680 3.0 5.0
10 6 3v N= v9 140 10 70| 9 2 3NV+1 *5 -430 00 80 |10 6 3NO+3 *2 -690 0.0 8.0
7 & EKKn9 Basta kontrakt 8 4 KD75 Basta kontrakt 9 4 EDKNn1097 Basta kontrakt
Syd v K963 2NT S =120 Vast vE5 4v V D -1 100 Nord v K6 4v O =-620
Alla + 876 Ingen + Kn963 ov +97
»E9 & ¢ v & NT #EK10 & ¢ v & NT #862 & ¢ v & NT
410762 D84 N6 9758 4 E93 484 N9 6496 4863 4 K5 N3 4364
vKn vE108752 S 6 9 7 5 8 vKD962 v 10843 S96496 v 85432 vE109 S 34364
¢K432 o+ E 054565 ¢ EK5 ¢+ D872 0479 34 + D6 ¢ EK104 O 109 107 9
#K754 #1082 V645675 #Kn6 2975 V47934 #KKn7 &ED53 V 109 107 9
453 4 Kn1062 442
vD4 v Kn7 v DKn7
+ DKn1095 + 104 ¢ Kn8532
#DKn63 #D8432 #1094
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 7 3NN+1 v5 630 80 00| 9 3 3asS-= ¢ A 140 7.0 1.0 1 2 5¢V-3 s A 300 8.0 0.0
4 6 3NN= v6 600 6.0 20 [10 7 34 N= v4 140 70 10 (10 7 3¢ 0-1 a4 100 6.0 2.0
1 2 2v0-2 +Q 200 40 40| 4 6 INN-1 +3 50 3.0 50| 9 3 3vV+l s A -170 4.0 4.0
9 3 2NN+1 48 150 20 60| 5 8 INN-1 vT -50 3.0 50| 5 8 3NO= a4 -600 2.0 6.0
5 8 3NN-1 v7 -100 0.0 8.0 1 2 2vV+1 oK -140 00 80 | 4 6 4vV= oA -620 0.0 8.0
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10 a2 Basta kontrakt 11 4107 Basta kontrakt 12 4 Kn4 Basta kontrakt
Ost v Kn86542 3 S =110 Syd v EKn953 64 S =980 Vast v Kn96 44 V =-420
Alla + ED32 Ingen + K5 NS + KD82
#E3 & ¢ v & NT #KKn106 & ¢ v & NT #9873 & ¢ v & NT
2108543 4 E6 N9 6 887 4853 4942 N 11129 1211 4 K7632 4 D109 N3 7224
v93 vKD10 S96887 v K6 vD10742 S 11129 1211 v D7 v K10852 S37224
¢ K75 ¢Kn109%64 O 4 7 3 5 6 ¢ E642 ¢ KnlO 021411 ¢+ 97 ¢ E10 09 6 10107
#1084 #KD2 V47355 #D542 %987 V21411 #E1042 #KD6 vV 9 6 10107
& KDKn97 & EKDKn6 4 E85
vE7 v8 v E43
+8 + D9873 + Kn6543
#Kn9765 »E3 #Kn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 3 24V-3 a2 300 7.0 1.0 9 4 3NN+3 *9 490 7.0 1.0 6 1 INO-1 +6 50 8.0 0.0
5 7 2vV-3 a2 300 70 1.0 [10 8 3NN+3 +J 490 7.0 1.0 5 7 INO= ¢+ 4 -90 5.0 3.0
9 4 24 S= + K 110 4.0 4.0 2 3 3NN+2 9 460 30 50 (10 8 INO= ¢*4 -90 5.0 3.0
6 1 INO-1 +K 100 2.0 6.0 6 1 3NN+2 *9 460 3.0 5.0 9 4 INO+1 ¢+ 4 -120 2.0 6.0
10 8 3NDS-2 #4 -500 0.0 8.0 5 7 3NN= v2 400 0.0 8.0 2 3 24 VH2 2 -170 0.0 8.0
13 4 KKn9 Basta kontrakt 14 a- Basta kontrakt 15 4« KD Basta kontrakt
Nord v 10987632 3v N =140 Ost v EKD1053 3v S =140 Syd v 9532 5¢ VD -3500
Alla ¢ E Ingen + KD865 NS ¢ E
109 & ¢ v & NT #Kn5 & ¢ v & NT #KKn9832 & ¢ v & NT
4E743 410852 N65957 4 E8 # KKn53 N57 967 # EKNn10965 473 N 115 105 9
v5 vEK S65957 v 8742 vKn S57 967 vE84 vKnl0 S 115 105 9
¢DKn7  ¢106432 078385 493 ¢ EKn742 085365 + 1076 ¢DKn5432 02 8 2 7 2
#KD632 #Kn5 V78385 #D10742 #K86 V85365 +10 &D76 V28272
« D6 4 D1097642 & 842
v DKn4 v 96 vKD76
+ K985 +10 + K98
*E874 #E93 *E54
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
7 2 4e V-2 *A 200 8.0 0.0 6 8 4v N= *A 420 8.0 0.0 7 2 4v S+1 &T 650 8.0 0.0
3 4 2v N+2 46 170 5.0 3.0 9 5 3vN+1 ¢ A 170 6.0 2.0 6 8 4v S= &T 620 5.0 3.0
6 8 2v N+2 +3 170 5.0 3.0 3 4 3vyN= ¢ A 140 40 4.0 9 5 4v S= s A 620 5.0 3.0
1 10 2v N+1 vA 140 2.0 6.0 1 10 24 S-2 +9 -100 2.0 6.0 3 4 3&S= s A 110 2.0 6.0
9 5 24V= ¢ A -110 0.0 8.0 7 2 34S-3 +9 -150 0.0 8.0 1 10 24 V= v3 -110 0.0 8.0
16 «Kn973 Basta kontrakt 17 & E8652 Basta kontrakt 18 & DKn53 Basta kontrakt
Vast v KD5 2NTV =-120 Nord v K9 44 ND-1-100 Ost v Kn97 54 S =650
ov + Kn54 Ingen ¢ E43 NS +10
#Kn53 & ¢ v & NT *K75 & ¢ v & NT #D9854 & ¢ v & NT
4 D105 4K842 N7550505 4107 oK N39 398 4 K7 492 N8 6 7 116
v8643 vE97 S755565 vE86542 v DKnl103 S38398 v10632 v854 S 86 7 116
¢+ 1062 ¢ ED93 O6 8888 +8 ¢ DKn76 O 104 104 4 ¢ KD976 ¢ Kn52 057525
K94  &E6 V688838 #9843 #EDKn2 V 104 104 4 102 #EK763 V57525
4 E6 & DKn943 +« E10864
v Kn102 v7 v EKD
+ K87 + K10952 + E843
#D10872 »106 *Kn
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
8 3 INO-1 »7 100 7.0 1.0 9 6 24DN+1 ¢Q 570 8.0 0.0 2 10 44 S+1 »T 650 5.0 3.0
9 6 INO-1 *7 100 70 1.0 | 4 5 44 N-= v3 420 50 30| 4 5 44 S+1 + K 650 5.0 3.0
4 5 INO= *7 -90 4.0 4.0 8 3 44 N= vQ 420 5.0 3.0 7 1 44 S+1 + K 650 5.0 3.0
2 10 INO+1 *2 -120 2.0 6.0 7 1 24 N+2 vQ 170 20 6.0 8 3 44 S+1 + K 650 5.0 3.0
7 1 INO+2 *2 -150 0.0 8.0 2 10 34 N-2 vQ -100 0.0 8.0 9 6 44 S= + K 620 0.0 8.0
19 # EKn752 Bésta kontrakt 20 D852 Bésta kontrakt 21 498743 Bésta kontrakt
Syd vE3 3NT S =400 Vast v Kn63 3v V =-140 Nord vE102 3v O =-140
oV ¢ EKn6 Alla + Kn84 NS + Kn9
#1083 & ¢ v & NT #1072 & ¢ v & NT #1098 & ¢ v & NT
463 494 N7 7799 4 E1073 4Kn4 N8 4465 « D5 » EK106 N36 453
v1072  vKKn984 S77799 vK754 vED1092 S844605 vDKn53  v986 S36 463
¢+ D742 K85 06 56 3 4 ¢ K53 ¢ E1072 059977 +6 ¢ D8753 0107 9 7 7
#DKn92 #E65 V65634 «D8 *65 V59977 #EKDG52 #3 vV 107 9 7 7
«KD108 » K96 & Kn2
v D65 v8 vK74
41093 + D96 + EK1042
*K74 #EKKN943 *Kn74
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 4 44 N= 49 420 7.0 1.0 3 10 4v V-1 a2 100 7.0 1.0 3 10 284V +1 +J -110 8.0 0.0
5 6 44 N= a4 420 70 1.0 5 6 4v V-1 a2 100 7.0 1.0 1 4 24V +2 +J -130 5.0 3.0
8 2 34 N+2 v4 200 40 4.0 9 7 3vV= a2 -140 4.0 4.0 9 7 3&V+1 +J -130 5.0 3.0
9 7 34 N+1 a4 170 2.0 6.0 8 2 3vO+1 *A -170 2.0 6.0 8 2 3vV= +J -140 2.0 6.0
3 10 34 N= *A 140 0.0 8.0 1 4 4v 0= *A -620 0.0 8.0 5 6 3NO+2 *4 -460 0.0 8.0
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22
Ost
ov

4 DKn1095
v 96

¢ E754
*62

& E842 & K6

v7
4+ DKn

vED10432
+ 1086

#E08754 #D3

Par

rOONPE

=

[@XeNNé N

a73

v KKn85

+ K932

&#KKn10
Kontr
3NV -4
3N O -3
3% V-3
2v O-1
2v O =

Ut

4Q
a7

4Q
a7

Basta kontrakt

3 O =-110

& ¢ v &N
N4 7 676
S47676
095765
V85765
Res Poang
400 8.0 0.0
300 5.0 3.0
300 50 3.0
100 20 6.0
-110 0.0 8.0

23

» EK8643

Syd v82
Alla + K742

« DKn9 452
v 95 vED74
+ 103 +D8
&#EKNB8542 #KD963
4107
v KKn1063
+ EKn965
&7

Par Kontr Ut

4
2
6
9
1

10 44 N+1 &K
5 3¢ S+2 &A
7 3¢ N+2 &K
8 3¢ S+1 &A
3 INV+1 s A

Basta kontrakt
44 S =620

& ¢ v & NT
N 5 119 106
S 5 119 106
081336
V813 36
Res  Poang
650 8.0 0.0
150 5.0 3.0
150 50 3.0
130 20 6.0
-120 0.0 8.0

24
Vast
Ingen

& E72

a4
v EK3
+ EKKn6
#K10762
& KKn103

vKnl10865 v942
49842 + D103
&E

Par

oOhFRLNO

coowurN

D98

& D9865

vD7

¢75

&Kn543

Kontr Ut
3NN +1 &8
36 N= v2
5& N -1 v9
3NN -1 v9

3NN-1 v9

Basta kontrakt

44 N =130
& ¢ v & NT
N 107 6 8 8
S 107 6 8 7
036755
V36755
Res Poang
430 8.0 0.0
110 6.0 2.0
-50 2.0 6.0
-50 2.0 6.0
-50 2.0 6.0
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